zmienna losowa dyskretna

zmienna losowa ciggla

dystrybuanta

F(z,y)=P(X <x,Y <y) :ffooffoof(u,v)dvdu

dystrybuanta brzegowa

Fy () =P <y) =3, <, 20 P (i y;)

Fx (x) = ffoo fx (u)du

Fy (y)= [ fr (v)dv

destos¢ brzegowa

Ix (@)= [Z_ f(z.y)dy
fy W)= [7 f(z,y)de

rozktad warunkowy

P(X=2;,Y=y;
P(X =xilY =y;) = (p(y:yj)y )

P(Y= j,X:Ii
P(Y:yﬂX:xi):%

gestos¢ warunkowa

S Gelo) = S5

f (ylo) = £

dystrybuanta warunkowa

Fzly;) = P(X <alY =yj) = 20 <o P(X = @[Y = y;)

Fyle:)) =P <ylX =) =3, -, P(Y =y;|X =)

Faly) = |7 f (uly)du= 72 [7_ f (u,y) du

F(ylx) = ffoo [ (z|v)dv = fxl(m) f;yoo f(z,v)dv

warunkowa warto$¢ oczekiwana

EX|Y =y)=>, P (X =xY =y)

EY|X =), yP(Y =y|X =z)

E(X|Y =y)= [7_af (z|y) dx

E(Y|X =x)=["_yf(ylz)dy

warto$é oczekiwana (brzegowa)

i

EY =3, yiPy (Y =y;)

EX = [T afx (z)dx

EY = [Z _yfy (y)dy




